Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-67367-6913b7c70e729

VERIFY.FTGS.US Date: November 11, 2025

Port of Loading Transport Type Seller (Exporter) Los Angeles LOS ANGELES COLLECTIVE, LLC 2301 East 7th Street **Destination Country Destination Port** Los Angeles United Arab Emirates **DUBAI** CA USA **Export Date** Exporting Carrier ****** Consignee **OUNASS.COM** Import Permit Number Bill of Lading / AWB AL TAYER INSIGNIA LLC-FOR OUNASS-UAE C/O AL TAYER LOGISTICS WAREHOUSE **United Arab Emirates** Forwarding Agent Owner or Agent

Remarks



Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) Womens Apparel - Pants/Jackets 132.16 **United States** ===end of products=====



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



HILLDUN CORPORATION Remit To: 36 EAST 31ST STREET, 12TH FL NEW YORK, NY 10016-1904

DEPT NO.

CARTONS

INVOICE NO.	0742637
DATE DUE DATE PAGE NE270714	11/11/25 01/10/26 1 of 4

BILL TO: OU0001

OUNASS.COM

AL TAYER INSIGNIA-FOR OUNASS

PO BOX 2623

P.O. NUMBER

17969893

DUBAI

UNITED ARAB EMIRATES

BILL OF LADING NUMBER

SHIP TO: 00

OUNASS

AL TAYER INSIGNIA LLC-FOR OUNASS-UAE C/O AL TAYER LOGISTICS WAREHOUSE

SHIP VIA

DHL

DUBAI

UNITED ARAB EMIRATES

SALES REPS

Phone: 97142011111

ORDER#

SHIPMENT ID #

0614852

Fax: 97142825120

FREIGHT TERMS:

WEIGHT

TERMS

NET 60 DAYS

	3333	3091451	4	132.16	6 02	9	HOUS	HOUS	
STYLE NUMBER	CLR	DESCRIPTION SIZ	ZE SHIPPED			MSRP	TOTAL SHIPPED	UNIT PRICE	EXTENDED AMOUNT
1993RKG	BLAC	NATHALIA LTHR FRNG FR	CPE BLACK					415.00	
		XXS/ S/M L/XL						415.00	
		2 1					3	373.50	1120.50
_		Content: 100% POLYESTER							
ļ		Style COO: CHINA							
		HTS: 6202.13.4020 - WOMEN	S MMF WOVEN CROF	PJACKET					
61656FUW	BLAC	LYNNE L/S ONE SHLDR DR	ESS BLACK						
								125.00	
		XXS XS S M L XL XXI	i						
_ '		1 3 2 1					7	112.50	787.50
		Content: 90% POLYESTER 10% SF	PANDEX						
		Style COO: UNITED STATES							
			S KNIT DRESSES						
40792AQL	BLCS	ELLERY L/S BLOUSE BLAC	K/CRYSTAL						
								240.00	
		XXS XS S M L XL XXI							
_		1 2 2 1 1					7	216.00	1512.00
		Content: 74% ORGANIC COTTON	23% POLYESTER 3%	ELASTANE					
ļ		Style COO: CHINA							
	L		S COTTON WOVEN B	SLOUSE					
61646STX	BLAC	LINDSAY OFF SHLDR LC D	RS BLACK					0.01 0.0	
ļ								271.00	
		XXS XS S M L XL XXI						042.00	1460 40
_ '		1 2 2 1	OOL ODANDEY				6	243.90	1463.40
		Content: 80%NYLON 14% RAYON	6% SPANDEX						
ļ		Style COO: CHINA HTS: 6104.43.2010 - WOMEN'	S KNIT DRESSES						
		H13. 6104.43.2010 - WOMEN	3 KINII DRESSES						
ļ									
SPECIAL INSTRUCTION	ONS			T ₁	MDSE TOTAL		•		

* Continued Next Page *

DISCOUNT NO SALES TAX OTHER **FREIGHT**

Customer Copy

TOTAL INVOICE

mediately claims must be made within bf red ods prior authorization



HILLDUN CORPORATION Remit To: 36 EAST 31ST STREET, 12TH FL NEW YORK, NY 10016-1904

DEPT NO.

CARTONS

INVOICE NO.	0742637
DATE DUE DATE PAGE NE270714	11/11/25 01/10/26 2 of 4

BILL TO: OU0001

ORDER#

SHIPMENT ID #

0614852

OUNASS.COM

AL TAYER INSIGNIA-FOR OUNASS

PO BOX 2623

P.O. NUMBER

17969893

DUBAI

UNITED ARAB EMIRATES

SHIP TO: 00

TERMS

NET 60 DAYS

OUNASS

AL TAYER INSIGNIA LLC-FOR OUNASS-UAE C/O AL TAYER LOGISTICS WAREHOUSE

SHIP VIA

DHL

DUBAI

UNITED ARAB EMIRATES

SALES REPS

Phone: 97142011111 Fax: 97142825120

BILL OF LADING NUMBER

FREIGHT TERMS:

WEIGHT

	3333	3091451	4	132.16	029	HOUS	HOUS	
STYLE NUMBER	CLR	DESCRIPTION SIZE	ZE SHIPPED		MSRP	TOTAL SHIPPEI		EXTENDED AMOUNT
2625NGX	BLAC	PILAR WIDE LEG PANT BLA	ACK				100.00	
		00 0 2 4 6 8 10) 12 14 16	18			198.00	
_		1 2 2 1 1				7	178.20	1247.40
		Content: 68% POLYESTER 29% RA	AYON 3% SPANDEX					
		Style COO: CHINA						
		HTS: 6204.63.9010 - WOMEN	'S MMF WOVEN PAN	Γ				
2625PXP	PPHS	PILAR WIDE LEG PANT BLA	(/BLUE LARGE	PORCELAIN				
							248.00	
		00 0 2 4 6 8 10	12 14 16	18				
_		2 2 1 1				6	223.20	1339.20
		Content: 100% SILK						
		Style COO: CHINA						l 10
		HTS: 6204.69.4510 - WOMEN	'S SILK WOVEN PANT	Г				l e
40126PXO	PPHP	DANI 3/4 SLEEVE BLOUSE	BLK/BLUE MED	PORCELAIN PRIN	1T			
							165.00	l L
		XXS XS S M L XL XXI	Ĺ					
_		1 2 2 1				6	148.50	891.00
		Content: 100% SILK						a a
		Style COO: CHINA						4
			'S SILK WOVEN BLOU	· -				a a
61120PXQ	PPHS	AKIYA TANK DRESS BLK/BI	LUE LARGE PC	RCELAIN				<u> </u>
							177.00	
		XXS XS S M L XL XXI	L					6
_		1 3 1				5	159.30	796.50
		Content: 55% RAYON 45% VISCOS	SE					o o
		Style COO: CHINA	IO MANE WOVEN DRE	00				2
		HTS: 6204.43.4030 - WOMEN	'S MMF WOVEN DRES	55]ပ
SPECIAL INSTRUCT	IONS			MDSE TO	TAI	1		<u> </u>
		-		I59F 10				40

* Continued Next Page *

DISCOUNT NO SALES TAX OTHER **FREIGHT**

Customer Copy

TOTAL INVOICE

claims must be made within nt prior authorization



HILLDUN CORPORATION Remit To: 36 EAST 31ST STREET, 12TH FL NEW YORK, NY 10016-1904

DEPT NO.

CARTONS

INVOICE NO.	0742637
DATE DUE DATE PAGE NE270714	11/11/25 01/10/26 3 of 4

BILL TO: OU0001

OUNASS.COM

AL TAYER INSIGNIA-FOR OUNASS

PO BOX 2623

P.O. NUMBER

17969893

DUBAI

UNITED ARAB EMIRATES

BILL OF LADING NUMBER

SHIP TO:

00

OUNASS

AL TAYER INSIGNIA LLC-FOR OUNASS-UAE C/O AL TAYER LOGISTICS WAREHOUSE

SHIP VIA

DHL

DUBAI

UNITED ARAB EMIRATES

SALES REPS

Phone: 97142011111

ORDER#

SHIPMENT ID #

0614852

Fax: 97142825120

FREIGHT TERMS:

WEIGHT

TERMS

NET 60 DAYS

STYLE NUMBER CLR DESCRIPTION SIZE SHIPPED MSRP SHIPPED PRICE EXTENDIBLE AMOUNT		3333	3091451	4	132.16	029	I H	IOUS	HOUS	İ
206.00 XXS	STYLE NUMBER CLR		DESCRIPTION	TOTAL SHIPPED	UNIT	EXTENDED AMOUNT				
XX8 X8 S M T, XIL XXIL 1 3 2 1 1 Content: 87% NYLON 10% POLYESTER 3% COTTON Style COO: CHINIA HTS: 6106.20.2010 - WOMEN'S MMF KNIT BLOUSE DMLB ROBYN ALINE MIDI SKIRT DARK MALBEC 00 0 2 4 6 8 10 12 14 16 18 2 3 2 1 1 Content: 50% POLYURETHANE 50% POLYESTER Style COO: CHINIA HTS: 6104.59.1030 - WOMEN'S KNIT MMF SKIRT ALICE OFF SHLDR BLAZER MIDNIGHT/BURGUNDY PINSTRIPE 10 252.90 252 11 Content: 68% POLYESTER 29% RAYON 3% SPANDEX Style COO: CHINIA HTS: 6204.33.5010 - WOMEN'S MMF WOVEN JACKET & BLAZER REBEL TROUSER MIDNIGHT/BURGUNDY PINSTRIPE 10 252.90 252 11 Content: 68% POLYESTER 29% RAYON 3% SPANDEX Style COO: CHINIA HTS: 6204.33.5010 - WOMEN'S MMF WOVEN JACKET & BLAZER Content: 68% POLYESTER 29% RAYON 3% SPANDEX Style COO: CHINIA Style COO: CHINIA Content: 68% POLYESTER 29% RAYON 3% SPANDEX Style COO: CHINIA Style COO: CHINIA 148	40696NIV	DMLB	MAIA LACE BUTTONDOWN	I BLS DARK MA	LBEC				206.00	
Style COO: CHINA	_		1 3 2 1 1					8		1483.2
188.00			Style COO: CHINA							
- 2 3 2 1 1 Content: 50% POLYURETHANE 50% POLYESTER Style COO: CHINA HTS: 6104.59.1030 - WOMEN'S KNIT MMF SKIRT ALICE OFF SHLDR BLAZER MIDNIGHT/BURGUNDY PINSTRIPE 281.00 252.90 252 Content: 68% POLYESTER 29% RAYON 3% SPANDEX Style COO: CHINA HTS: 6204.33.5010 - WOMEN'S MMF WOVEN JACKET & BLAZER HTS: 6204.33.5010 - WOMEN'S MMF WOVEN JACKET & BLAZER REBEL TROUSER MIDNIGHT/BURGUNDY PINSTRIPE 198.00 142 14 16 18 18 178.20 142 142 143 164 18 184	3467ZST	DMLB							188.00	
ALICE OFF SHLDR BLAZER MIDNIGHT/BURGUNDY PINSTRIPE	_		2 3 2 1 1 Content: 50% POLYURETHANE 50		18			9	169.20	1522.8
TROPKX 1	681PKX	MBPI			RGUNDY PINSTR	IPE			281.00	
PREBEL TROUSER MIDNIGHT/BURGUNDY PINSTRIPE 00 0 2 4 6 8 10 12 14 16 18 2 2 2 1 1 Content: 68% POLYESTER 29% RAYON 3% SPANDEX Style COO: CHINA 178.20 142	_		1 2 3 2 1 Content: 68% POLYESTER 29% R	1	18			10	252.90	2529.0
Content: 68% POLYESTER 29% RAYON 3% SPANDEX Style COO: CHINA	780PKX	MBPI	REBEL TROUSER MIDNIGH	HT/BURGUNDY	PINSTRIPE				198.00	
	_		2 2 2 1 Content: 68% POLYESTER 29% R Style COO: CHINA	1 AYON 3% SPANDEX				8	178.20	1425.6
SPECIAL INSTRUCTIONS MDSE TOTAL	SPECIAL INSTRUCTION	ONS) TAI				

* Continued Next Page *

DISCOUNT NO SALES TAX OTHER **FREIGHT**

Customer Copy

TOTAL INVOICE

claims must be made within bf red nt prior authorization



Remit To: HILLDUN CORPORATION 36 EAST 31ST STREET, 12TH FL NEW YORK, NY 10016-1904

INVOICE NO.	0742637
DATE DUE DATE	11/11/25 01/10/26
PAGE NE270714	4 of 4

BILL TO: OU0001

OUNASS.COM

SHIP TO: 00

OUNASS

OUNASS.COM AL TAYER INSIGNIA-FOR OUNASS PO BOX 2623 DUBAI UNITED ARAB EMIRATES Phone: 97142011111 Fax: 97142825120						AL 1 C/O DUE	AL TA BAI	AYER L		S WAREH	IASS-UAE IOUSE
ORDER#	P.O. NU		3 I Z C	DEPT NO.	TKLIOII	TERMS			SHIP V	1 ^	
0614852	17969			DEPT NO.		NET 60 DAY	<u>′</u> °		DHL	IA	
SHIPMENT ID #		LL OF LADING NUMBER	CAR	I RTONS	WEIG			ES REPS	DITL		
<u> </u>		3091451	•	4		132.16	029		HOUS	HOUS	1
OTV/ 5	3333			4		132.10	028	, <u> </u>	TOTAL		EVTENDED
STYLE NUMBER	CLR	DESCRIPTION	ZE SH	HIPPED				MSRP	SHIPPED	UNIT PRICE	EXTENDED AMOUNT
80045FZY	IGLX	UNA KNIT CARDIGAN IVOR		OLD LURE	EX MU	LTI			6	248.00	1339.20
_ 5801ANZ	AMLP	Content: 44% POLYESTER 25% AC Style COO: CHINA HTS: 6110.30.3020 - WOMEN' RASHA SHIRRED TANK BR	'S MM	IF SWEATER C	CARDIGA	١N	(1% SP.	ANDEX 1%	6 SPANDEX	94.00	
- 3413AOC	AMI D	XXS	EX 'S CO	OTTON SWEATI			VDD.		7	84.60	592.20
-		00 0 2 4 6 8 10 2 2 2 1 1 Content: 100% POLYESTER Style COO: CHINA	0 1: 1 'S MM	2 14 16 MF WOVEN SKI	18	INION LLOF	NI D		8	248.00 223.20	1785.60
-			0 1: 1 AYON	2 14 16 I 3% SPANDEX	(ĒR			9	281.00 252.90	2276.10
SPECIAL INSTRUCTION PT #\$ 00 * * * # 15 15 16 16 16 16 16 16 16 16 16 16 16 16 16)1	* *	Cu	ıstomer Co	opv	MDSE T DISCOU NO SAL OTHER FREIGH	INT ES TAX T		112		22111.20
* * * US Do	\			st be ma		TOTAL	_ INV	DICE			22111.20

🚾 prior authorization



LOS ANGELES COLLECTIVE, LLC 7240 SLAUSON AVE COMMERCE CA 90040 (323)549-9482

MASTER PACKING LIST						
PICK TICKET	ORDER DATE					
0614852-001	06/16/25					

Page: 1 of 2

В	OUNASS.COM AL TAYER INSIGNIA-FOR OUNASS
ΙL	PO BOX 2623
L	DUBAI
T	UNITED ARAB EMIRATES

Store: 00 S H I **OUNASS**

AL TAYER INSIGNIA LLC-FOR O

C/O AL TAYER LOGISTICS WAREHOUSE

T		AD EIVIIKATES)			T O	UNITED A	ARAB EMIR	ATES	
	Phone: 9714	2011111	Fa	Fax: 97142825120						
C	CUSTOMER NO.	OUR ORDER NO	. HLD CRD	HLD CONF	START D	ATE	CO	MPL DATE	SHIP VIA	
	OU0001 0614852		N	N	10/15/25		11/15/25		FEDEX GROUND	
	CUSTOMER P.O.		TERMS		DEPT	REP 1				REP 2
1	7969893		NET 60 DA	YS		NIC	NICOLE FALLICK HOUSE ACCO			HOUSE ACCOUNT

17303030		INET OF BATO	INIOOLL	TALLION	I HOUGE AG	000111	
STYLE	CLR	SIZES			PRICE	UNITS	EXTENSION
		Fed Ex Account# 831191147	(International I	Priority)			
		00 0 2 4 6 8 10 12	14 16 18				
681PKX	MBPI	ALICE OFF SHLDR BLAZER - N		RGUNDY PINSTRIP	E		
981NGX	BLAC	1 2 3 2 1 1 KYOMI DBL BREASTED BLZR	DI VCK		252.90	10	2529.00
190 INGA		1 2 2 2 1 1	- DLACK		252.90	9	2276.10
003BKC	BLAC	XXS/ S/M L/XL					
993RKG	DLAO	NATHALIA LTHR FRNG FR CPI	E - DLACK		373.50	3	1120.50
OCCENION.	BLAC	00 0 2 4 6 8 10 12					
2625NGX	BLAC	PILAR WIDE LEG PANT - BLAC	,K		178.20	7	1247.40
2625PXP	PPHS	PILAR WIDE LEG PANT - BLK/E	BLUE LARGE	PORCELAIN		_	
2780PKX	MBPI	2 2 1 1 REBEL TROUSER - MIDNIGHT	/BURGUNDY	PINSTRIPE	223.20	6	1339.20
	l	2 2 2 1 1			178.20	8	1425.60
3413AOC	AMLP	TORIN PLEATED MAXI SKIRT -	- BROWN MUI	TI AMUR LEOPARI	223.20	8	1785.60
3467ZST	DMLB	ROBYN ALINE MIDI SKIRT - DA	ARK MALBEC				
	-	2 3 2 1 1 XXS XS S M L XL XXL			169.20	9	1522.80
10126PXO	PPHP	DANI 3/4 SLEEVE BLOUSE - BI	_K/BLUE MED	PORCELAIN PRINT	-		
10696NIV	DMLB	1 2 2 1 MAIA LACE BUTTONDOWN BL	C DARKMA	BEC.	148.50	6	891.00
100901117		1 3 2 1 1	.S - DARK IVIA	LDEC	185.40	8	1483.20
10792AQL	BLCS	ELLERY L/S BLOUSE - BLACK/	CRYSTAL		216.00	7	1512.00
5801ANZ	AMLP	RASHA SHIRRED TANK - BRO	WN MULTI AN	IUR LEOPARD	216.00	,	1512.00
		1 3 2 1			84.60	7	592.20
31120PXQ	PPHS	AKIYA TANK DRESS - BLK/BLU	JE LARGE PO	RCELAIN	159.30	5	796.50
61646STX	BLAC	LINDSAY OFF SHLDR LC DRS	- BLACK				
	-	1 2 2 1			243.90	6	1463.40
		THIS IS NOT AN INVOICE - YOUR INVOICE	E WILL BE MAIL	ED TO YOU			
		***** CONTINUED ON NEXT PAGE ***					
B/L NOLA CHAMBER OF		TTL CTNS	WEIGHT	DATE SHIP SHIP V	IA	FREIGH	IT CHG
NA STANCE OF THE							
indly sheck merch	ASE NO andise car	efully		Y AUTHORIZED RETUR aims should be made within 3		EPTED	
USA 10 - = f015 - = td	100011 11	0C/95 11.09 PHTU					



LOS ANGELES COLLECTIVE, LLC 7240 SLAUSON AVE COMMERCE CA 90040 (323)549-9482

MASTER PACKING LIST								
PICK TICKET	ORDER DATE							
0614852-001	06/16/25							

Page: 2 of 2

	OUNASS.COM
В	AL TAYER INSIGNIA-FOR OUNASS
H	PO BOX 2623
B I L	DUBAI
T	UNITED ARAB EMIRATES

Store: 00 **OUNASS**

AL TAYER INSIGNIA LLC-FOR O

S H I P C/O AL TAYER LOGISTICS WAREHOUSE

DUBAI

Phone: 9	Phone: 97142011111 Fax: 97142825120						UNITED ARAB EMIRATES						
CUSTOMER NO.	OUI	R ORDER NO). HLD CRD	HLD CONF	START D	ATE	CON	IPL DATE	SHIF	VIA			
DU0001						5	11/	11/15/25 FEDEX GROU					
CUSTOMER P.O.			TERMS		DEPT	REP 1					REP 2		
					NIC	NICOLE FALLICK HO					HOUSE ACCOUNT		
STYLE						1				PRICE	UNITS	EXTENSION	
31656FUW	BLAC		XXS XS S M L XL XXL										
	_	_ 1 3 2 1								112.50	7	787.50	
30045FZY	IGLX	UNA K	KNIT CARE		ORY/GOI	_D LU	REX	MULTI			223.20	6	1339.20
		THIS IS NO	OT AN INVOI	CE - YOUR I	NVOICE WI	LL BE	MAIL	ED TO YOU				112	22111.20
B/L NO CHAMBEO	I			TTL CTNS	WE	IGHT		DATE S	HIP	SHIP VIA			T CHG
Se Principal de la Constitución				4	l .	32.16				•	0		.00
OWA S					'`	۰۷. ۱۷							.00
indly sheck mercha	ASE NO	TE.			•			Y AUTHORIZ			WILL BE AC	CEPTED	
naw check metch:	andise car	CTITIO									OVC.		